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ENGLISH VERSION

Instructions : (1) All questions are compulsory.

(2) Marks are indicated in right side.

1 (a) Explain : Limitations of operation research. 10
(b) Explain : Types of operation research. 10

OR
1 Solve by graphical method : 20

Maximize the objective function z = 200 x + 300 y by using
following constraints :

Sx+2y <180, 3x4+3y <135, y<2x,x,y>0.

2 (a) Explain : Uses of linear programming. 10
(b) Explain : Limitations of linear programming. 10

OR
2  Using simplex method solve the following L.P.P. : 20

Maximize : Z = 3x+2y

ste. : x+y<4 x—y<2, x>0,y >0.

3 (a) Explain the meaning of PERT and CPM. 8
(b) State characteristics and advantages of CPM.
OR
3 (a) Explain the following terms in context with 8

game theory.
Principle of Dominance, Strategy.

(b) Solve the following game by using principle of 7
dominance :
Player — B
I II III
|1 7 2
Player- A 11 |6 2 7
mi|s 1 6
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4 (a) Explain : Principle of Laplace, principle of Horwich.

() Find EVPI :

ACT

Event | Prob. [ A; | As A3z
S1 02 | 40 [ =10 |-100
So 0.7 (400 | 440 | 400
S3 0.1 1650 720 | 760

OR
4 (a) Explain : Types of inventory control. 8
(b) Explain : Determining EOQ.
[ 100 ]
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